ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



8 \ 7 6 5 4 3 2 /
VIEW X
ANSTCHT X i
2,04 . — SUPPORT REQUIRED <PAGE2)
l ( ABSTUTZUNG ERFORDERL ICH (BLAW 2)
F ( o
I \\ g
SOCKET FOR HEADER 0,63x0,63 N e :
BUCHSENLEISTE FUR L ® UNTERSEITE LESER:
PROSTENVERD INDER 16, 830, 63 ?igEgEgDER/ JAHR / FOLGENUMMER
H 5.0 50TTOM SI1DE READER: OPENING FOR UNLOCKING DURING LOSS OF POWER
SRODUCT NG OFFNUNG FUR NOTENTRIEGELUNG BE ! STROMAUSFALL
DAYCODE / YEAR , CONSECUTIVE NUMBER
69,8
92,0 45,1
£ 0,3 40,35
51,90 5,0
>< - o i \ |
f\k 3 %07 [ T
| o O 0% W1 THOUT COVER FOIL . — () %
’ 0 30 DICK/THICK| | OHNE DECKFOLIE A | | 7 = L1 Y <
0 //
= o | % ?& N
7 C = o 3,65
= ® ~© ’
| Co ~ Q-
| ) =al | : ; col | o =
i 5 3 | , < o |2 02 | i 5| @
] N (j 63 o ~ 0 ‘ o~ | Elzzz - ‘ ;;; :ft
! -~ 03 - < == 0 0 : o
[ I - - —= ® o) o) — KjLE | ™
[ o . IS L Y, / | E° ‘
- C4 2 == T N B
c% STIFFENING NPT | 8 VA |
| C6  _| VERSTEIFUNG | 6 ‘ |
i | S iy — LO
: S - - N e
1l < [ N A | — ACTIVE POSITION
jQ — | / | i _//\\\ LESESTELLUNG
2,80 7,0
Ll 1.0 INACTIVE POSITION
- . 34,2 29,0 23,1 EIN-/AUSGABESTELLUNG
COUNTERSINK FOR HEAD SCREW M2
2 SUPPORT REQUIRED (P.?2
CARD PRESENCE SWITCH AND LOCKING DETECTOR [N SERIES SENKUNG FUR™ SCHRAUBENKOPE M2 ABSTUTZUNG ERFORDéRL.)(BL. 2)
SCHALTER FUR KARTENANWESENHEIT UND VERRIEGELUNG [N REITHE 0
B
B DIRECTION OF CARD [INSERTION
STECKRICHTUNG DER KARTE
Masse lerrechnet|/Calc W 9 | Zul. Abw./Tolerances: aBstab/ Scale : : = F@)
C__ D PrifmaB/Testdimension % Mostob/Seale D | (1 ' 1) AL
Teileind
, Weéjtﬁe/gfiba/50W/‘th5fv;e//)ft/7';t/‘gqn%fd/'esiff(f//);ef/age,r/Vefwiafung Pglffs'fllndeizumbef O D%?;EO CUSTOMER DRAW | NG
sl ol ol St foglitler o roos .| PUSHNATIC LOW PROT | LE
oder Gebrauchsmuster-Eintragung varbehalten, 06 | 200700823 25.03.08(Tol. |Jramn PUSHMAT | C FLACHE BAUFORM
. . o 05 | 200700775 16.10.07]Tol. | Gepr. O 12V without debris slot (with bottom)
gﬁp{é%(/%x;;ndgﬁwﬁgffgﬁgﬂg/”/%e;éo;” Z;Ze%,g?zdéﬁewﬁi 04 | 200700011 16.10.07(Tol . |Checked ’ 12V ohne Entsorqungsschacht (mit Boden)
out express authority. Offenders are [iable to the payment of |03 | 200400483 01.09.04 MM Am heno I _TUChe l Blott/Sheel
damages. All rights are reserved in the event of the grant of |9 19.12.02[Sje. p .
a patent or the registration of the vtility model or design. 01 16.05 02 TI(;L Electron 1CS GmbH M (:702 1 OMOO8 902 4 7 Bl
8 7 6 5 4 Index | Anderung/Jescription|Datun/Date|Name Ers. [./Replacement for.

o | ksdor f/25.03.2008 ‘



o | ksdor f/25.03.2008

8 \ 7 \ 5 i 3 2
|
|
FASTENING REQUIREMENTS FOR PART NUMBER C/02 10M008 902 4: |
MONTAGEVORSCHRIFT FUR BESTELLNUMMER C/702 10M008 902 4: ‘
AMPHENOL BEZEL AND FRAME (UPON REQUEST) — —  — ‘
F AMPHENOL EINFUHRKRAGEN UND EINBAURAHMEN (AUF ANFRAGE) — — — F
OR |
ODER \
CUSTOMER BEZEL AND FIXING AS FOLLOWS: MINIMUM REQUIRED SUPPORT BY CUSTOMER TERMINAL
— KUNDEN EINFUHRKRAGEN UND BEFESTIGUNG WIE FOLGT: MINIMALE GERATESEITIGE ABSTUTZUNG CUT-0UT FOR AMPHENOL BEZEL AND FRAME |
MONTAGEAUSSCHNITT FUR AMPHENOL
ADDITIONAL RECOMMENDED SUPPORT BY CUSTOMER TERMINAL EINFUHRKRAGEN UND EINBAURAHMEN
JUSAT/ZLICH EMPFOHLENE GERATESEITIGE ABSTUTZUNG
|
|
£ £
SUPPORT REQUIRED
OPENING FOR UNLOCKING DURING LOSS OF POWER ABSTUTZUNG ERFORDERL .
OFFNUNG FUR NOTENTRTEGELUNG BEI STROMAUSFALL
.
- AN 23,9 ] AR
/ ‘- E 1, /e : : ‘
i i | i[‘\;f/'j\ ’ i
| | N77 J _ | U | | \
] % = AN G oo | |
| - L iy i il I
S DI il ol o=s |
: M | ' : | : :i: : | | S |
. . i | H : | = \
A /o LIS | S +
- ) bir i =
I : M U . . | O »
; (- 2l S| SUPPORT FROM TOP AND BOTTOM A ol & N O e iy B r ; \
| ; | | - S| © &S| ABSTUTZUNG VON OBEN UND UNTEN i! o |l 2 — i!i i! B = 23 . ‘
ErEEE : ! Sl ' +
C : — | A | | | | | : :. : C ‘
! | i ! - o !! ii ! | ” ! |
BES = ‘ L+ HIEEE \
TR = > i THIE
| ‘ : f [0S o o 1 \
. 0.5 41 | - Woiﬂ S —
! (]|l ! ________________ . I | i iioi T ! | |::!
(N 1! o - 5H'
| TR R D ol -7 ESEINEE ‘
o === S SR SN ARG *
: J ODER: 3x BOHRUNG FUR 1l . 2,4 S VPN ‘
N - GEWINDEFURCHENDE SCHRAUBE M2 M2 L1_ = \an\,-,"f_/,/ |
B t— OR: 3x HOLES FOR THREAD T T 2
ROLLING SCREW M2 W’4
31.040,3 . |
, |
‘ 53.00,3 6,0 |
|
u 15,0 J_ 68,0 -
o |
76,1
Masse lerrechnet|/Calc W 9 | Zul. Abw./Tolerances: aBstab/ Scale : : EF@)
C__ D PrifmaB/Testdimension Mostob/Seale D | (1 ' 1) AL
Teileind
Weéjtﬁe/gfiba/50W/‘th5fV;e//)fé/7';t/‘gqn%fd/'esiff(f/n;ef/age,’/Vefwiafung Pglffs'fllndef(;wﬂbef O D%?;EO CUSTOMER DRAW | NG ‘
A sogrtlieh g o, Sk vpilngn Jogllotler o liee o | PUSHNATIC LOW PROFILE 1]
oder GEbmwhsmulsferf/nffag(mg vorbehalten, i 06 | 200700823 25.03.08(Tol. | Jramn . PUSHMAT | C FLACHE BAUFORM ‘
Cooving of this d ¢ ond aiving it to oth J 05 | 200700775 16.10.07]Tol. | Gepr. % 12V without debris slot (with bottom) |
or bommunication of the contents thereof. are forbridden with- |04 | 200700011 16.10.07(Tol . |Checked : 12V ohne Entsorqungsschacht (mit Boden) ‘
out express authority. Offenders are [iable to the payment of |03 | 200400483 01.09.04 MM Am heno I _TUChe l Blott/Sheel
damages. All rights are reserved in the event of the grant of |9 19.12.02[Sje. p . i
a patent or the registration of the vtility model or design. 01 16.05 02 TI(;L Elec t ronics GmbH M (:702 1 OMOO8 902 4 7 Bl ‘
8 7 5 4 Index | Anderung/Jescription|Datun/Date|Name Ers. [./Replacement for. ‘



	Contact us

